Self-check CU1M1 Production Possibilities Frontier

1. In this video, the speaker uses the following to explain production possibilities curve:
*berries and rabbits.
guns and butter.
steel and wheat.
wine and oranges.

2. What does ceteris paribus mean?
Allowing all variables to vary.
Maximizing production.
Maximizing profit.
*Holding all else equal.

3. In this video, scenario F, represents the situation where:
*300 unit of berries is produced an no units of rabbits is produced.
some units of rabbits is produced and not units of berries is produced.
the economically most efficient level.
None of the above

4. All the points under the productions possibility curve are:
impossible.
profitable.
*possible.
unprofitable.
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